| Efficien

cy vs Dxy |

0.5
<

S : : : : : : : : :
e e e e e o
> : : : : : : : :

30.4F
Q

D.35F
‘© -
0.3:—
0.25
0.2F
0.15F
0.1~
0.05f

........................................................................

........................................................................

OJ--\-Q 11

0.95

—-25

201510 5 O 5 10152025
TP dxy (cm)

Fit6_TTrew- TOWD

| Efficien

—a— D
—— D
cyvsbDz| |—=—p
—— D

..:‘:-r;:..... [

N O0.51
1S) r
9.45F
5\ r
_5 0.4;—
(&) -
.35
o C
0.3F
0.25
0.2F
0.15F
0.1~
0.05f
.9*-‘@f'
"(.B' -
x
l_—'

20 =10 0 10 20 30
TP dz (cm)

K
KFIt_TT NEWdefauIt _specPLess1-lowpt
kFit EWdefault”specPLess2-lowpt
kEit EWdefault"specPLess3-lowpt
kFit_TT_NEWdefault_specPLess4-lowpt




	Contents
	Page 1


